
Το 1 χέρι έχει 5 δάχτυλα.

Τα 2 χέρια έχουν:

_______________ = ____________________= ____ δάχτυλα.

Τα 6 χέρια έχουν:

_________________=____________________= ____ δάχτυλα.

Τα 10 χέρια έχουν:

________________ =______________________________= ____ δάχτυλα.

Τα 4 χέρια έχουν:

_________________=____________________= ____ δάχτυλα.

Τα 7 χέρια έχουν:

_________________=____________________= ____ δάχτυλα.

Τα 9 χέρια έχουν:

________________ =______________________________= ____ δάχτυλα.

Μάθημα 53

Όνομα: ______________________________
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